Big Idea: Algebra

Key Vocabulary
Simplify, Substitute, Equivalent, Coefficient, Product,
Highest Common Factor (HCF), Inequality.

What do | need to be able
o do?

Egtlwe.rﬂﬂftl'ﬁrtntwsiwjdbaabbto:

Form Expressons
= Expond and factonse sngle brackels
- Form and solve equations
- Solve equalions with brackets
- FKepresent meguallies
- Form and solve negqualties

Suggested websites: Maths Genie, Save My Exams and Corbett Maths
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I DOUBLE BRACKETS — you get 4 terms, and usually 2 of them combine to leave 3 terms.

There's a handy way to multiply out double brackets — it's called the [ thod and works like this:
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{ — multiply the second term in each bracket together
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3 (2 + 4)= 30 Expord the. brackets

bx + 1A =30
Substifule to check your answer
This could be negative. or a
fraction or decimal
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